Manuals+ — User Manuals Simplified.

HAVOC HFB-06-003 Nerf Bars Installation Guide

Home » HAVOC » HAVOC HFB-06-003 Nerf Bars Installation Guide -

Contents

1 HAVOC HFB-06-003 Nerf
Bars

2 Product Information

3 Product Usage Instructions
4 Components

5 Documents / Resources

6 Related Posts

HAVOC HFB-06-003 Nerf Bars


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/havoc
https://manuals.plus/havoc/hfb-06-003-nerf-bars-manual.pdf

Product Information

The Nerf Step, Bronco 4-Door is a product designed to enhance the accessibility and appearance of the Bronco
4-Door vehicle. It consists of various components that include:

Nerf Step (2 pieces)

Bracket, Front (2 pieces)

Bracket, Middle and Rear (4 pieces)

M8 — 1.25 x 25mm Carriage Bolt (12 pieces)

M8 — 1.25 Serrated Flange Nut (12 pieces)

M10 — 1.25 x 25mm Serrated Flange Bolt (12 pieces)

S T A

Please note that this product comes with a warranty and for any technical concerns, you can contact Omix-ADA
via email at webmaster@omixsupport.com.

Product Usage Instructions

1. Start by attaching the brackets to the Bronco rocker panel. The front bracket (2) has a different shape than the
middle and rear brackets.
« Attach the front bracket by threading the provided serrated flange bolts (6) into the threaded holes of the
Bronco rocker panel. Do not fully tighten at this time.
2. Mount the middle and rear brackets to the rocker panel.
« Attach the brackets (3) by threading the provided serrated flange bolts (6) into the threaded holes of the
Bronco rocker panel. Do not fully tighten at this time.
3. Attach the Nerf step (1) to the mounted brackets.
« |t is recommended to have an assistant to help lift the step into place.
« The tabs on the step should be mounted in front of the bracket tabs.

« Use the provided carriage bolts (4) to insert and lock into the stepped tab and through the bracket tab.


mailto:webmaster@omixsupport.com

« Secure the bolts with the serrated flange nuts (5). Hand-tighten this hardware at this time.

« Suggest attaching the step to the middle bracket first to help support the weight of the step.
4. Make any adjustments if necessary, then fully tighten the brackets to the body.

« Avoid using power or air tools. Tighten to 20ft Ibs torque to secure the bracket to the Bronco.
5. Tighten the hardware attaching the step to the brackets.

« Avoid using power or air tools. Tighten to 20ft Ibs torque to secure the step to the bracket.
6. Repeat the same procedure for the other side of the vehicle.

Components

1. Nerf Step. . (2)
2. Bracket, Front........cooiii (2)
3. Bracket, Middle and Rear..............ccovvvieninnen. 4)

4. M8 —1.25 x 25mm Carriage Bolt................... (12)

5. M8 —1.25 Serrated Flange Nut..................... (12)

6.

o ATTN: STATE OF CALIFORNIA CONSUMERS

« WARNING: Cancer and Reproductive Harm —www.P65Warnings.ca.gov.

Nerf Step, Bronco 4-Door

1. Start by attaching the brackets to the Bronco rocker panel.
« The furthest front bracket (2) is a different shape than the middle or rear brackets. Attach the front

bracket by threading the provided serrated flange bolts (6) to the threaded holes of the Bronco rocker


http://www.p65warnings.ca.gov

panel. Do Not fully tighten at this time.

o
2. Mount the Middle and Rear brackets to the rocker panel.
« Attach the brackets (3) by threading the provided serrated flange bolts (6) to the threaded holes of the

Bronco rocker panel. Do Not fully tighten at this time.

3. Attach the Nerf step (1) to the mounted brackets.
« It's best to have an assistant to help lift the step into place. The tabs on the step mount in front of the
bracket tabs. Use the provided carriage bolts (4) to insert and lock into the step tab and through the
bracket tab. Then secure with the serrated flange nuts (5). Handtighten this hardware at this time. We

suggest attaching the step to the middle bracket first to help support the weight of the step.

4. Make any adjustments at this time, then fully tighten the brackets to the body.
« Avoid using power or air tools. Tighten to 20ft Ibs torque to secure the bracket to the Bronco.



5. Tighten the hardware attaching the step to the brackets.
« Avoid using power or air tools. Tighten to 20ft Ibs torque to secure the step to the bracket. Repeat the
same procedure on the other side.

Copyright © 2022 Omix-Ada®, Inc.
460 HORIZON DR.

SUWANEE, GA 30024

PHONE: 770-614-6101

FAX: 844-270-0593

« www.Omix-ADA.com.

Documents / Resources


http://www.omix-ada.com

HAVOC HFB-06-003 Nerf Bars [pdf] Installation Guide

HFB-06-003 Nerf Bars, HFB-06-003, Nerf Bars, Bars

Manuals+,



https://manuals.plus/m/2844fb22af910f9b9cbf62c10b2ee7f680d99365ed2662f8df435fbd181971b9
https://manuals.plus/m/2844fb22af910f9b9cbf62c10b2ee7f680d99365ed2662f8df435fbd181971b9_optim.pdf
https://manuals.plus/

	HAVOC HFB-06-003 Nerf Bars Installation Guide
	HAVOC HFB-06-003 Nerf Bars
	Product Information
	Product Usage Instructions
	Components
	Documents / Resources


